1. REEERITINL (FHO6FSH D)

xtbAE | XtRs xS AEH &8 (M)
5H2H FE |TESEBE FE- SO (HE) 16,500
5H8H B |WERHLE FEE-SHXO(EE) 5,000
58108 ottt |[PITSARESEDH RER) 3,500
5811 = WHTESRFEREEGERRE BRIOM(ZH) 3,000
58218 = MSREFEZS BRtERZRE GRS RRIGRZDOH(ZE) 4,000
5H22H FHE  |EMRE REFEE SO (FHE) 5,000
5824H ot  [FEREEADFLE 7,200
5H30H = SHHERFERERSLRE O (ZE) 2,720
5R31H ottt [REREBRAZREIIEHMERUBRZOH (RER) 2,916
5H31H WHOTEZEY Z7ERAHFERRSHIZICH S Bm 46,200
a &t 96,036




2. % FH(PH6FK)

bRy | H(ERY) | REHER | 2EERD) | RE#
= = 3 10 9,720 57,720
- B 0 0 0 0
B & 3 8 26,500 84,500
8 & W 0 0 0 0
B & 0 0 0 0
O 1 1 46,200 46,200
T D 3 3 13,616 13,616
a 5 10 22 96,036 | 202,036




